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[A.1(@)]  AoA 5 B=2] WE] Rap

Rjyp=rp—rs = —8a,+4a, —6a,
[A.1(b)] ] Aol 3 C=2] ME Rac

Ryc =rc—rs = —9a, +2a, +3a;

[A.1(c)] RapE Rycoll TGS A2 B4

R4z Rac B (—8) X (—9>+4 X 2+(—6) X3

= =64
Rac| (—9)2 422432
[A.1(d)] Rap X Rac
a, a, a
RAB XRAC = —8 4 —6
-9 2 3
={4x3—(—6)x2}a,+{(—6) x (—9) — (—8) x 3}a, + {(—8) x2—4 x (—9)}a,
= 24a, +78a, +20a,

[Q.2] ME F = xa, +ya, 7} T4 Qlt}. 7HeF, F- G = 2xy0] L F x G = (x* —)y?)a,o|H, G T3}t (153)
G= gxax'f‘gyay'f‘gzaz‘_‘q— !%:—9% F-G= &xX+8yy = 2xyo]

a, a, a
FxG=| x y 0 |=gya —xga,+(xgy—yg)a. = (x*—))a,
g 8 &
b A-E TEStEH g, =0, g =y, 8y =x7} grh. = G = ya, +xa,

[Q.3] th= FEA EA ol oA HoHAl 2. (457)
[A.3(a)] A P(10,—8,6) o[l A] F =10a, —8a,+ 6a, & YSFFA = H
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p=vx2+y2=1/102+82=1238

—2Y ! 8 3570

=t
¢ =tan 10



F, =F-a, = (10a,—8a,+6a,)-a,
= 10a,-a, —8a,-a, +6a;-a,
= 10cos¢ —8sin¢ +0
= 10cos(—38.7) —8sin(—38.7) = 12.81
Fy =F-ay, = (10a, —8a, +6a;)-a,
=10a,-ay —8a,-ay + 6a;-ay
= —10sin¢ +8cos¢ +0
= —10sin(—38.7) — 8cos(—38.7) = 0.009 ~ 0

= F=12.81a, +6a;,

ol

[A.3(b)] & O(p,9,2) oA G = (2x+y)10a, — (y —4x)a, & AEHEAZ H

G =Gpap +Gypay +Ga,
71X G.= F FEANA TLSE=E G, = 00]H,
G, =G-ap, =[(2x+y)10a, — (y—4x)a,] -a,
= (2x+y)10a,-a, — (y —4x)a,-a,
AR x, y, 25 YEHFAZ HB5IHH x = pcosd, y = psingS HASHA H}.
Gp = (2pcos¢ +psing)10cos¢ — (psing —4pcos¢)sing
=20p cos’ ¢ + 10p sin ¢ cos ¢ — p sin® p +4p sin @ cos ¢

=
x
>
El
i)
El
)
e

=20p cos’® ¢ — psin® ¢ + 14p sin § cos ¢
Gy =G-ay =[(2x+y)10a, — (y—4x)a,] - a4y
= (2x+y)10a,-ay — (y —4x)a, -ay
=—(2pcosd +psing)10sing — (psing —4pcos¢)cos
= —20pcos ¢ sin¢ — 10p sin® ¢ — p sin§ cos ¢ +4p cos’ ¢
=4pcos®p — 10p sin® ¢ —21p cos P sin ¢

= G = (20pcos® ¢ — psin’ @ + 14psin¢ cos ¢)a, + (4p cos® ¢ — 10p sin® g —21p cos P sin¢)a,
[A3(0)] F= 3 C(-3,2,1),D(r=5,6 =20°,¢ = —70°) o] 5}, 3 Ce} A DAl 9] 7=

A DE AW FEA 2 HESHH x = rsin 6 cos ¢ = 5sin20°cos(—70°) = 0.585, y =rsin 0 sin ¢ = 5sin20°sin(—70°) =
—1.607, z=rcos O =5c0s20° =4.700]| 2.2 D(x =0.585,y=—-1.607,z= 4.7)7]— =}

[Rep| = \/(—3 —0.585)2+ (2+1.607)2+ (1 —4.7)2 = 6.29

[Q4] #E) 74 H— ;‘a¢ = QEguAo)q FAEAZ Wakshat. o, AL Aol o} (104)
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p =rsin@0]1l, ag+




